
𝑘 =
|𝐹𝐺|

|𝐵𝐶|
=
6

4
=
3

2

 

|𝐸𝐺| = |𝐴𝐶| · 𝑘 = 2 ·
3

2
= 3

 

|𝐴𝐵| =
|𝐸𝐹|

𝑘
=

9
2
3
2

=
9 · 2

2 · 3
=
18

6
= 3

 

4𝑥 − 13 = 7 ⇔ 

4𝑥 = 20 ⇔ 

𝑥 =
20

4
= 5

 50 30 20

30

50
· 100% = 60%

60%

 

30

50
·
20

50
· 100% =

600

2500
· 100% =

6

25
· 100% = 24%

24%



 𝑓(0) = 4 𝑥 = 0 𝑓(𝑥) 𝑦 4

 𝑇2 = 3 4 8

(0; 4) (3; 8)

 𝑏 = 300 𝑎 = −20

𝑦 = −20𝑥 + 300, 0 ≤ 𝑥 ≤ 15

 140 300 300 − 140 =

160

−20𝑥 + 300 = 140 ⇔ 𝑥 = 8

8 140

 

 



 2013

𝐷𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑠 = 340 − 330.416 = 9.584

 𝑓(𝑥) = 200

56 · 1.067𝑥 = 200

⇕
𝑥 = 19.62909

 56

 

𝑟𝑦 = (1.0675 − 1) · 100% = 38.3%

 MIDDEL(A2: A51)

𝑥 = 123

 

123 > 118

100% − 25% = 75%

 𝑥 = 150 𝑓(𝑥)

𝑓(150) = 0.0513 · 1500.456 = 0.504

 

𝑓(5𝑥)

𝑓(𝑥)
=
0.0513 · (5𝑥)0.456

0.0513 · 𝑥0.456
= (

5𝑥

𝑥
)
0.456

= 50.456 = 2.083



 

𝐵 5

∠𝐵 = 83.04455𝑜

 𝐴

∠𝐴𝐴𝐵𝑃 = 17.1𝑜 

∠𝐴𝐴𝑃𝐶 = 17.1𝑜

|𝐴𝐵| = 10.3 ∠𝐴𝐴𝐵𝑃 = 17.1𝑜

∠𝐵 = 83.04455𝑜 ∠𝑃𝐴𝐵𝑃
∠𝑃𝐴𝐵𝑃 = 180𝑜 − ∠𝐴𝐴𝐵𝑃 − ∠𝐵 = 180𝑜 − 17.1𝑜 − 83.04455𝑜 = 79.85545𝑜

|𝐴𝑃|

sin(79.85545)

10.3
=
sin(83.04455)

|𝐴𝑃|
⇔ |𝐴𝑃| =

sin(83.04455) · 10.3

sin(79.85545)
= 10.387

𝑇𝐴𝐵𝑃 =
1

2
· 10.387 · 10.3 · sin(17.1) = 15.73

15.73




